QP Training Course
MD – Taxation Answers


Chapter 12 Profits Tax: Expenditure

Answer – Exercise 1
Money spent on acquisition of a fixed asset is a capital expenditure. Money spent in disposing of a disadvantageous asset is also non-deductible capital expenditure. Accordingly, a payment for the surrender of the lease (still having a reasonable period prior to expiry) would not qualify for a deduction.

Answer – Exercise 2
The $30,000 payment is clearly of a capital nature, being a once-and-for-all expenditure giving rise to an enduring benefit (British Insulated and Helsby Cables case). The payment is therefore not deductible (s 17(1)(c)).

However, expenditure on books can qualify as expenditure on “plant and machinery” (Munby v Furlong). Therefore, Lo could claim an initial allowance of 60% on the payment of $30,000 and an annual allowance of 20% on the balance for the year of assessment 2011/12.

The $2,000 subscription is a recurrent payment incurred in the ordinary course of business. It therefore can be classified as an ordinary expenses, deductible under the general provision of Section 16(1).
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